B2 29283 gy
/\
291 39

3 3 & %

12|

1. 1 Jam zo) wnzel Lot 191 & O,°ll YEstk=
BN ABCD,E J8 J82 RO AL H§ AEAHL F
ME B,C, C,D BN Bets & 0,8 J51 A o0
BNUY ABC,D,E I8 JES R SIAL Ot &2
&5 HHm @2 I RO ZYHO A= ZE A9

o2 gZ 1oE 2 M, lim,9
7 —> 00

] Xl
A ?

MU

G

)
o
S
o
. 2

R,

@ (4+2v2)r
® (6+4v2)r

D (24+2v2)r
@ (6+2+v2)r

@ (4+3v2)r

2. 2 J3M mo| Lo 291 NE ABE NSOR Bt Bl
ALt T AB 99 B PE /PAB=4T} HEE FI T AP
o] M QE F T BP, AQQ| Xojo| HT} 1: 27} HES
FEM F ME AP, BQ2 WE2 R, B ROM M2 ABO L2
AMO| B2 [E} SRl £ M BR, PR I BPE EMOI
HEo| HO|Z () T ME AR, QRY T AQE S2MOl
g HOE (02 2 1, im {090 o ;e
>0+ RH
(E, 0<f<—
6

1 3 5 7 9

vy @5 ©®5; @5 65

1/4



39 % ¥

42

272087 ) 2

28 g

3. 3 B8 fw)=a+1% HOIO) BR g) 7 BE

o5t 1i

9(2)—

g(1

i
)=

gU@th—glfl@) =

h (1 +1)

kY M 3249 i FOINL.

A 4 nep fo)=a' 29 AUAE ¢(0)F 2 W,
0<a<bBE UFMAE T AL o, b° W39 Pla, g(a)),
Q. gb)2 BN, M8 0P, ME 00 B TH [a b]OINS
84 = () JAT2 SMY! TYO HOIE s ¥ 0,
24 ho)B

ha)= lim =
b—a+ a

=t oL (k)= %-% HEARIE S5 K Oo (k)=

ptal e TN,
(B, Ok 2FOID, (% = NZAQ AI40IT)

d0
= |[[",
p

2/4



42

3

5%

237 o)
/\
29 3

12|

[YE

0

! o]

ol

1. [3E G

A

2 0,0 ZAT ¥IIZ0| Zokg 242 O

., 7,02t 5fH & 0,2}
4= C,D,0| Eoh= &S E, 02+ 51H
£0,E,C, =90°, £0,CE, =45°
0|22 AZI 0,C,E, S AZIO|SHAZIOI Tk

AO,=E,0,=r,, C,0,=+2r,

J[=1=1
AC,= A0, C,0,
= 2r, =(1+v2)r,
Ty
o2 2
L] \f+1 \/>

Ot EpA {r,}2 ZMfSl0| 10|12 JH[7} 21/2—291
SHiegolez

— (2 \/5_ 2)n*1
OCL ¥ 0,9 =8e| Z0k= 27r, 0|22
L= 2mr, =27, 22—
k=1 k=1
O[Ct. C2tA]
=(6+4v2)r

lim!, =

n— oo

2
1—(2v2-2)

Olct.

2. [BE1 ®

A

M2 ABQ| BZ Oz} S|AL & 3 BP, AQQ| Zoe| H|7t
1:20|22 £ ABQ=200|H
/BOP =20, 2A0Q=400|H

O[C}l. AlZI& ARBOJIM 2 ARB=r— 300|522 ARIHZI0|| ofsf

AB _ AR Th 25sin 20
sin(r—36) sin26 sin 360
0|
Ri= AR sinf — 2sin# sin 26

sin 36

O[ct f(0)+9(0)Ql 22 & FAlZ OBP, 0AQQ| 0]

x 1220, §><12x49

2 AOP, BOQQ| ol
1

7% x 1% sin (7 —26), %Xl2 X sin (m— 46)
9| 2ol A2f ARBO|
ARBO| Sl0=

2sin 6 sin 20

e
§><AB><AR><SIH9— Sn30

o|B=2
sin 260+ sin 46

O0|2| &+ HHS gt 2O MR

2sinfsin 26

FO)+9(0)=30+

OICt. b

—92%
2 sin 30

¥ f0)+9(0)

1m ]

90+

4sinfsin 26
0 sin 30

. sin 260+ sin46
= lim |3+ % -
90+

E_ lim 25in051n20:£

lim 950+ 0sin3f 3

o0+ 0

o [=1=1

lim JO196) lim ——=————= >
90+ RH 2

Olct.

3. [&E 9
ST

lim gf@)t+h)—g(f) =
h=0 h (' +1)°
= ¢'(f(z)= m
O[Ct. 29| Alo| QHHO|| f'(z)E HZONEH
o @) ()= 22
(m4 + 1)

o, f(0)=1, f(1)=20]|22 20| Ajo|
[0, 1]0jM Z2=251H
dx—f g'(

/ PREOIK
=g(2)—g(1)

o cpe
HS Bl

3/4



Y42 2287 )

/\
29 3

12|

39 % %
NEE]
2= [ (mffl)g &
- [ - 8(2743+1)2 K
i
9
32
orct,

o 32k=9

4. [HH] 35
SE a2t b2 LIERHH

5= [ o)+ aglal= g0
o|g=z
b _
o= Jim {7 [ oo o 000
OIck. O, Dzl 7|2l ofstol g(x)o] B
chsiol
[ otw)az= ct- cta)

a

bg(b)— ag(a)
b—a

Glb)— Gla) ?
b , lim

a b—a+
= 22 G2)2 zg(x)Q] x = a0MQ| ORFAIS0| Holot 2,
{G2)} = glz), {zg(a)} = g(2)+2g'(x)
[=1=3

a)= o)+ {gla)+ag (@)= {gla)—ag (a)}
oIt Wb

k=5

0|22 H2|51H
1

2= 9 (0~ K+ g(h

(o0~ k' ()= 1

e

I

y=glx) 101 A (k, g(k)olMQ| 20|

| =

0|4, 0,

3 W, TA| RO 1t B )= hE BEAPIE A4 0]
ChslOf (1, /(0)oiAfe] Ette] Al

y=r'®—t)+f¢)
oL, of sol (1. ofg 2tz

1

0= 705 1)+ 400

0|, f(t)=1t"+1tQt f'(t)=3t"+ 18 CHUSHH

: . 1 .
0:(—3t5+§tz—t+—)+t3+t
2 2
3, 1
:>23_72_7:
£ =t =5=0

11
= =122+ =t+ = |=
(t )(t+2t+2) 0

Qlcl, (2t2+%t+% > (00|22 ¢=10|1, k= f(1)=20[C}

(o)== a5"(@)
JEERESTE

W9
Olck. Of g 73| 2lslod

o
e

2)=0
o|Z2 £1(1), ¢'(2), £'(1)0] S FoHwm
Fl2)=32"+1
OBEE| f'(1)=4, f(1)=20|B2 '(2)= %= Lol
1 (@)= 6z
o=2HE| £7(1)=60Ck [f2pA
1 2
6><(Z) +4¢"(2)=0
= ==
Of, (k)= OIFk
Soptqg=35

4/4



